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AMH: fedie:_ R
3(7x + 2x) + 9x + 4x + 3x 4+ 8 44 + 8x) + 3
8% — 2x% + 3(2x + 8x) — 6 Sx? — 4x% + 4(4x% — 3x%) - 3x°
x+x*— 8+ 3(2.x3 + 8x2) 2+ 7% + 3(8x3 + 7x2) —3x
E 452 -+ Sxtx 2(2)(3 - 5x2) — 8 —9x? —3x
30— 8 + 9x — 5S¢ + Tx X — 8¢ + Tx — 6+ 2x°
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qH: %:r@ w: _
3(7x + 2x) + 9x + 4x + 3x X+ 8 +4(4x + 8x%) + 3x?
A3 25 + 35x°
8x> — 2x% + 3(2x + 8x) — 6x° 5x% — 4% + 4(4x% — 3x%) = 3x°
2 — 27 + 30x 3% + 5x2
x+x2 — 8+ 3(2x° + 8x?) 2% + 70 + 3(8% + Ta%) — 3x
6 + 25 — Tx 31 + 23 — 3x
X+ 52 =T+ 5x+x 22 — 5x7) — 8 — 9x% — 3x
X — 2% +6x 4 — 27 — 3x
30 — 8¢ + 9x — 5% + Tx° X — 8¢ + Tx — 6x+ 2x?
2% — 5% +9x —7¢ 4+ 2¢ +x
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